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Preface

The State Council of Educational Research & Training
reviewed the assessment process in light of the recommendations of
National Education Policy - 2020 & provisions of Right to Free and
Compulsory Education (Amendment) Act, 2019 and notified "“Student
Assessment and Evaluation Scheme” upto class 8™. As per “Student
Assessment and Evaluation Scheme” the vyear-end assessment
(summative Assessment) of class-VIII, for current academic session shall
be conducted by SCERT.

Keeping in view that students require proper planning and
thorough understanding of mechanism of assessment to prepare
themselves to achieve competency in each subject, SCERT has prepared
model/sample papers for class 8" as per the Academic Calendar Cum
Syllabus Notified by the Council.

These Sample papers will help student to plan their
preparations/studies for achieving better performance and desired
competencies. The focus is on Learning-outcomes. These model papers
will help teachers/students to get better insight of academics and will help
them to know the pattern of questions inside out to perform efficiently in
forthcoming assessment. Gratitude is due to the members of Assessment
Cell of SCERT-JK for painstaking efforts for bringing out these model
papers.

Any comments or suggestions to improve the Model papers
are welcome at e-mail Id: ersa.scertjk@gmail.com
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English Class 8" Model Paper

Design of Assessment for Class-VIII
Section A-Reading Comprehension 15 Marks

1) One seen stanza from the prescribed poems to be
attempted followed by 3 MCQs, one open ended question
and one fill up, based on comprehension, literary devices,
inference, etc. 1 x 5 =5 Marks

2) One unseen passage of about 200-250 words to be
attempted followed by MCQs, comprehension questions,
providing suitable title to the passage, one-word
substitution, vocabulary, inference, analysis, etc.

1x 5 = 5 Marks

3) One question on visual clues/ statistical data/ bar graphs/
pie charts/ histograms to be attempted followed by 4 MCQs
and one open ended question based on inference, analysis,
evaluation, etc. 1x 5 =5 Marks

Section (B)-Grammar 8 Marks
« Parts of speech
« Auxiliary verbs
« Articles
» Tenses
« Reported speech (Statements, Questions)
« Punctuation marks

4) One passage with blank spaces to be filled by using
appropriate parts of speech, articles, auxiliaries etc.

2% Marks
5) One passage given in direct/indirect speech to be
converted into vice-versa.
2 % Marks
6) One contextualized passage/ story/ paragraph to be edited

testing the use of tenses, punctuation and the appropriate
spelling etc. 3 Marks



Section (C)-Writing Skills 12 Marks

7) One question to be attempted on story/dialogue writing on

the given situation with the help of hints. 3 Marks
8) One question to be attempted on message/email writing on
the given situation (50words). 2 Marks

9) One question to be attempted on letter writing out of two
letters with some given situations. (formal/informal).

3 Marks

10) One question to be attempted on report writing on

incidents, events, situations etc out of the two with the given

hints, visual clues. (80 -120 words) 4 Marks

Section (D)-Literature 15 Marks

11) Three out of five short competency-based questions to be
attempted from the prose lessons of the prescribed
textbook. 3 x 2=6 Marks

12) Two out of four short competency-based questions based
on theme, central idea, literary devices etc. to be attempted
from the poems excluding the one given in reading
comprehension. 2 x 2=4 Marks

13) One out of three long answer competency-based questions
to be attempted based on character, scene, theme, plot,
situation, event, irony etc. from the short stories and the
play. 1x 5=5 Marks



Selected Learning Outcomes for Summative Assessment
The learner-

ENG808: reads excerpts, dialogues, poems, commentaries of sports and
games speeches, news, debates on TV, Radio and expresses opinions about
them.

ENG809: asks questions in different contexts and situations (e.g., based on
the text / beyond the text / out of curiosity / while engaging in conversation
using appropriate vocabulary and accurate sentences)

ENG811: narrates stories (real or imaginary) and real-life experiences in
English.
ENG812: interprets quotations, sayings and proverbs.

ENG813: reads textual/non-textual materials in English/Braille with
comprehension.

ENG814: identifies details, characters, main idea and sequence of ideas
and events while reading.

ENG815: reads, compares, contrasts, thinks critically and relates ideas to
life.

ENG816: infers the meaning of unfamiliar words by reading them in
context.

ENG819: prepares a write up after seeking information in print / online,
notice board, newspaper, etc.

ENG820: communicates accurately using appropriate grammatical forms
(e.g., clauses, comparison of adjectives, time and tense, active passive
voice, reported speech etc.).

ENG821: writes a coherent and meaningful paragraph through the process
of drafting, revising, editing and finalizing.

ENG822: writes short paragraphs coherently in English/Braille with a proper
beginning, middle and end with appropriate punctuation marks.

ENG823: writes answers to textual/non-textual questions after
comprehension /inference; draws character sketch, attempts extrapolative
writing.

ENG824: writes email, messages, notice, formal letters, descriptions/
narratives, personal diary, report, short personal/ biographical experiences
etc.

ENG825: develops a skit (dialogues from a story) and story from dialogues.

ENG828: Identifies poetic devices like rhyme scheme, simile, metaphor,
alliteration, imageries etc.



Model Paper—2023-24
Class-8t" Subject: English
Max. Marks: 50

Section A Reading Comprehension 15 Marks
1) Read the following lines from a poem carefully and answer
the questions given at the end. 1 x 5 =5 Marks

I steal by lawns and grassy plots,
I slide by hazel covers;

I move the sweet forget-me-nots
That grow for happy lovers.

I slip, I slide, I gloom, I glance,
Among my skimming swallows;

I make the netted sunbeam dance
Against my sandy shallows.

I murmur under moon and stars
In brambly wildernesses;

I linger by my shingly bars;
I loiter round my cresses;

And out again I curve and flow
To join the brimming river,

For men may come and men may go,
But I go on for ever.

Questions
a. Which among the following is a flower?
a. Hazel cover b. forget me not
c. Netted sunbeam d. Shingly bar

b. What is personified in the above lines of the poem?
a. Stream b. River
c. Brook d. Ocean



C. ...But I go on for ever.” The quoted line from the poem
tells us about some journey. It is the journey of:

a. Life b. Sea
c. Sailors d. Travellers

d. What do slide, murmur, linger and loiter tell us about the
brook?

e. What lesson does the journey of the brook teach us?
(Answer in one or two sentences)

2) Read the following passage carefully and answer the
questions given at the end. 1 x 5 =5 Marks

Smith was a ten-year-old school girl; her sister was seven years
old. Their parents were Penny and Colin Smith. It was 26
December 2004. Deadly tsunami waves were already on their
way. They had been triggered by a massive earthquake off
northern Sumatra earlier that morning. “The water was swelling
and kept coming in,” Penny Smith remembered. "The beach was
getting smaller and smaller. I didn’t know what was happening.”
But Tilly Smith sensed that something was wrong. Her mind kept
going back to a geography lesson she had taken in England just
two weeks before she flew out to Thailand with her family to
celebrate Christmas. Tilly saw the sea slowly rise, and start to
foam, bubble and form whirlpools. She remembered that she
had seen this in class in a video of a tsunami that had hit the
Hawaiian Islands in 1946. Her geography teacher had shown her
class the video, and told them that tsunamis can be caused by
earthquakes, volcanoes and landslides. Tilly started to scream at

her family to get off the beach. "She talked about an earthquake



under the sea. She got more and more hysterical,” said her

mother, Penny. “I didnt know what a tsunami was. But seeing

my daughter so frightened, I thought something serious must

be going on.” Tilly’s parents took her and her sister away from

the beach, to the swimming pool at the hotel. A number of other

tourists also left the beach with them. “"Then it was as if the

entire sea had come out after them. I was screaming, ‘Run!””

The family took refuge in the third floor of the hotel.

Questions:

What among the following can cause a tsunami?

a. Whirlpools

b. Earthquakes

c. Bubbles

d. Sea rise

Which religious festival is mentioned in the given passage

"Tilly saw the sea slowly rise, and start to foam, bubble
and form whirlpools.” What is the synonym of the
underlined word?

a. Stop

b. Mount

c. Slow

d. Gain

What feelings might have been aroused in the family at the end?

a. Feeling of horror

] | think (b) and (d) may be the
b. Fee“ng of sorrow correct options in this case

c. Feeling of anger

d. Feeling of relief



v. What happened to the family at the end?

3) Look at the below given picture carefully and answer the
questions given at the end. 1 x 5 =5 Marks

Questions

1. Observe the shadows in the picture and tell which time of
the day in there.

a. Morning How can it be decided from the

b. Noon given picture where the position of

c. Afternoon sun is not defined. Also have a look
' in Q2

d. Evening
2. What sort of relationship is shown in the above visual clues?

a. Relationship of hatred

b. Relationship of enmity



c. Relationship of affection
d. Relationship of generosity
3. What do you think the dog is doing in the tub?
a. Sitting
b. Playing
c. Bathing
d. Dancing
4. Observe the following groups and identify the group where
all the members of the group show growth in their real life?
a. Man, Tree, Tub, Dog
b. Tree, Grass, Man, Dog
c. Water, Tub, Dog, House
d. House, Foams, tub, Water
5. What kind of atmosphere is shown in the pictures? (Answer
in one or two sentences)

Section (B) Grammar 8 Marks
4) Complete the passage by applying appropriate words from

the box given. 2> Marks
dress tried the made
yesterday
little tomorrow frock a
My sister is very naughty. When she
came back from school , she had

torn her dress. We asked her how it had happened. She said she
had quarrelled with a boy. She had beaten
boy in a race and he had
to push her. She had told the
teacher and so he had chased her, and she had fallen down and
had torn her




5) Read the following passage convert it into direct speech.
22 Marks

My father once told me that I was not studying well. I replied
him that I was focusing on my sports event which would be held
any time. So my father was satisfied with me and asked if I could
carry on both studies and sports.

6) Read the following passage and edit it in terms of tenses,
punctuation and the appropriate spelling.

3 Marks

All living things needs water in order to survive. The few plants
and animals that live in deserts has developed the ability to
require less water than most plants and animals. The camel,
popularly known as the ‘ship of the dasert’, can drink a lot of
water at one time? Camels can do without water for days
together. The reason is they sweet very little. We sweat because
we must keep our body temperature constant. We sweat when
it gets hot, and this cools the body. Camels can stand high body
temperature. They don’t need to sweat and can, therefore, retain
a water they drink for long periods of time.

Section (C) Writing Skills 12 Marks

7) Read the following mind map and develop a dialogue between
a teacher and a student in a classroom situation. 3 Marks

Food Water

Al
C o2

Heat Plants

Light

Animals Shelter

(OR)



Read the below given visual clue and develop a story of your
own.

8) Write a text message on the given situation in not more than
50 words. 2 Marks

The next day your school has a football match with a
neighbouring school but the authorities suddenly announce
summer vacation. So the match gets automatically postponed
till the reopening of the schools after the summer vacation.
You are the captain of the school football team, so you are
asked to inform all the players about the postponement of the
match. Now write a text message to all the players.
(OR)

Write an e-mail on the given situation in not more than 50 words.
You have been selected for a national art exhibition which is
going to be held in New Delhi in the coming month. The
organising body of the exhibition wants your consent to be a
participant in the said exhibition. Now write an e-mail to the
organisers either in acceptance or refusal and send it to the

given e-mail ID: indiaarts.org@gmail.com.

10
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9) Write a letter on any one of the two given situations.
3 Marks
You are a student of Govt. Middle School Jammu. Your school

does not have a science teacher. You and all your classmates
are facing so much difficulty learning science through proper
and practical learning. Write a letter to the HOI of your school
requesting her/him to arrange a science teacher for your class
so that you will study the said subject better. You can also
highlight the benefits of studying science with a science

teacher to support your demand.

Or

Your class is going for an education trip. Your class teacher
tells you to seek the permission of your parent/guardian, who
is out of home on his business trip and is expected to return
after the trip date. Now you decide to communicate him/her
through a letter. Write a letter to him/her asking for the grant
of permission for the said education trip and also request him
to send a written document of grant of permission which you
will submit to your school.
10) Write a report on any one of the following given situations.

(80 -120 words) 4 Marks
Your school organised a seminar on ‘Say No to Drugs and Yes

to Life’, in which all the teachers, students, parents and
community members took part and some famous personality
of your area was the chief guest on the event. Many students

and community members delivered speeches. The three best



speeches were given prizes and achievement certificates.
Now being student secretary, you are asked to write a report
on the said seminar to be published in the print media and
uploaded on social media.
(OR)

While going to school, you came across an accident in which
a scooty collided with a car. Both the vehicles were partially
damaged. The scooty rider was seriously injured but the car
driver had received no injury at all. The injured was rushed
to nearby hospital and a case of the accident was registered
by the concerned police. You want to present the news of the
said accident on the morning assembly. Now write the news

report by following all the steps of a news reporting.

Section (D) Literature 15 Marks

11) Answer any three out of five short competency-based

questions from prose section. 3 X 2= 6 Marks

a) 'Life is a gift.” Elaborate the given statement in reference
to 'Life’ the prose lesson portrayed in your textbook.

b) Why the Himalayan region is called the ‘Water Tower of Asia’?
c) How does our tongue do good or bad to oneself and others?
d) Write a brief account on your favourite game.

e) Why Brutus was called ‘the noblest Roman of them all’?

12



12) Answer any two out of four short competency-based
questions from poetry section. 2x2=4 Marks
a) Explain the following lines of “A Nation’s Strength’.
They build a nation’s pillars deep
And lift them to the sky

b) What is the rhyme scheme of the poem—'Porus and His
Elephant’?

c) The poet uses different similes for the bangles. What are
these?

d) In the poem—Stars Speak to Man, the poet describes the
man as a serpent. Why?

13) Answer any one of the following questions in about
80-120 words. 1x 5=5 Marks
a) Discuss Achilles as a pet?
b) Give a detailed account of Sohrab as a son?

c) The play is actually a dream which Alice had. Do you
remember any dream which you had? Write a description of
your dream?

13
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Class: 8™ Max. Marks: 50
Paper: Science Time Allowed: 2 1/2Hrs
Summative Assessment
Section A
Multiple Choice Questions (13x1=13)
Choose the Correct option
Q1. If 'O’ is microorganism which lives in water and reproduces by
budding. Identify the organism ‘O’ from the microorganisms given
below:
(A) Euglena (B) Paramecium
(C) Coral (D) Planarians
Q2. The number of images formed by two adjacent plane mirrors depends
on the angle between the mirrors as shown in figures below.
[T FTOT
Find the number of images formed when angle between mirrors is 60°.
(A) 6 (B) 5
(©) 3 (D) 4
Q3. Identify the natural source of air pollution.
(A) Automobile exhausts (B) Smoke from factories
(C) Coal fired Power stations (D) Volcanic eruptions and forest
fire
Q4. The chemical formula of the rust.
(A) Fe;0, (B) FeO
(C) Fey04 (D) Fe(OH),
Q5. Water which is suitable for drinking is called.
(A) Sewage water (B) Fresh water
(C) Potable water (D) Sea water
Q6. The way that is not used to conserve water?
(A) Reuse (B) Reduce

(C) Recycle (D) Replace



Q7. Identify the microorganisms shown in the figure below:

P b

(A) A-Giardia, B-Trypanosoma, C-Euglena, D-Amoeba

i
&

L & D

(B) A- Amoeba, B-Trypanosoma, C-Paramecium, D- Giardia

(C) A-Trypanosoma, B- Giardia, C-Euglena, D-Amoeba

(D) A- Euglena, B- Giardia, C- Amoeba, D- Trypanosoma

Case Based Questions 8-010

Case: A student performed an activity to show the effect of manure and
fertilizers on the growth of seedlings. He took three pots A, B and C with
same kind of seedlings as shown below. Pot A contains ordinary soil without
any manure or fertilizer, Pot B contains soil that is mixed with manure and
Pot C contains soil mixed with fertilizer.

The important types of manures are Farmyard Manure (FYM), Green
Manure (GM), Compost, Sea Manure and Poultry Manure. While, the
important types of fertilizers are Nitrogen, Phosphate, and Potash (NPK).
Other fertilizers are Urea, Calcium Ammonium Nitrate (CAN) etc.

Q8. Which Pot contains soil that is mixed with Potash or Urea?
(A) PotA (B) PotB
(C) PotC (D) In Pot B and Pot C

15



Q9.

Q10.

16

Pot C shows the maximum growth in comparison to Pot B, this is
because:
(A) Fertilizers are not good for plants

(B) Fertilizers are not soluble in water

(C) Fertilizers are rich in plant nutrients like Nitrogen, Phosphorus
and Potassium (NPK).

(D) Fertilizers have all the nutrient that a plant needs.

Identify correct match of Manure and Fertilizer.
(A) GM is Chemical Fertilizer and FYM is Chemical Fertilizer

(B) CAN is Chemical Fertilizer and NPK is Manure
(C) NPK is Manure and GM is Manure
(D) NPK is Chemical Fertilizer and FYM, GM is Manure.

Assertion and Reasoning Type Questions (Q11-Q13)

Directions: In the following questions, a statement of Assertion (A) is

Q11.

Q12.

Q13.

followed by a statement of Reason (R). Mark the correct choice
as:

(A) Both Assertion (A) and Reason (R) are true and reason (R) is the
correct explanation of assertion (A).

(B) Both Assertion (A) and Reason (R) are true but reason (R) is not
the correct explanation of assertion (A).

(C) Assertion (A) is true but Reason (R) is false.

(D) Assertion (A) is false but Reason (R) is true.

Assertion (A): The bubbles of a gas may be formed on the
electrodes.
Reason(R): The passage of an electric current through a conducting
solution causes chemical reaction.
Assertion (A): Graphite is a non-metal.

Reason(R): It is the only non-metal which is good conductor of
electricity.

Assertion (A): Lighting strikes could destroy life and property.

Reason(R): Lighting conductors can protect buildings.



Section B
Very Short Answer Type Questions (6x2=12)

Q14. Student-A has to push a lighter box and student-B has push a similar
heavier box on the same floor. Who will have to apply a larger force
and why.

Q15. Why do new automobiles tyres have deep grooves?

Q16. Give two differences between a zygote and a foetus.

Q17. Keeping in view the Figure 1. What will be the angle of incidence when
the sum of angle of incidence and reflection is 100°?

MNormal

incident
ay

Reflecte
ray

Figure 1
Q18. What are various characteristics of image formed by a plane mirror?
Q19 What happens when
I. Dilute sulphuric acid is poured on a copper plate.
II. Iron nails are placed in copper sulphate solution.
Write word equations of the reactions involved.

Section C

Short Answer Type Questions (5x3=15)
Q20. Lightning and thunder take place in the sky at the same time and at

the same distance from an observer. Lightening is seen earlier and
thunder is heard later. Explain why?

Q21. A child studying in a coastal region test the drinking water and also the
sea water with his tester. He finds that the compass needle deflects
more in the case of sea water. What are the reasons?

Q22. Define asexual reproduction. Describe two methods of asexual
reproduction in animals.

Q23. How is excessive accumulation of carbon dioxide in the atmosphere
related with global warming?

Q24. What are antibiotics? What precautions must be taken while taking
antibiotics?

17



Section D

Long Answer Type Questions (2x5=10)

Q25.

Q26.

Make Sketches of animal cell and plant cell. State two differences
between them.
OR

“Cells are basic structural units of living organism”. Explain?

Harshit a student of class 8" is observing certain changes in his body
like hoarness in voice. He also observes that these changes are taking
place in all his classmates who are boys and these changes are
different from his classmates who are girls. These changes mark the
onset of a certain stage. What this stage is called and explain the
changes associated with it.

OR

Duhan observes his grandmother scolding his aunt every day for
giving birth to three baby girls instead of a boy. Duhan immediately
stood up and told his grandmother that giving birth to a boy or a girl is
not in her hands and there is a scientific mechanism behind it. Explain

the mechanism which makes a fertilized egg develop into a boy or a

girl.

KKk k%
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Class 8t" Mathematics Model Paper for Summative
Assessment 2023-24

Chapters and the Distribution of Questions as per Cognitive
Level for final Summative Assessment 2023-24

Chapter CL-1 CL-2 CL-3 Total
Marks

Practical 1 0 5 6
Geometry
Square and 2 0 2+1 5
Square roots
Cube and 2 0 2+1 5
Cube roots
Algebraic 3 1+1 3 8
Expressions
Mensuration 1+1 2 3 7
Exponents 1
and powers
Introduction 5 1 1 7
to Graphs
Playing with 1+1 3 1 6
Numbers

Total 18 10 22 50
Note:

A) CL-1 (Cognitive level-1, which includes memorized and
understanding of the concepts). These questions are
purely based on LOTS

B) CL-2 (Cognitive Level-2, which includes application of the
learnt concepts). These questions are mostly based on
LOTS

C) CL-3 (Cognitive Level-3, where a student sometimes
needs multiple concepts to solve a problem and has also
opportunity to develop new rules and innovative ideas).
These questions are mostly based on HOTS

LOTS= Lower Order Thinking Skills
HOTS=Higher Order Thinking Skills



Model Paper 2023-24
Section (A) Objective Type Questions (Each of 1 Mark)

Q.1. Which one of the following is a binomial?
a) 2x(x + 1) b) 2x(xyz)

C)2+x+y d) x-1+y
(CL-1)

Q.2. If a natural number is divisible by both 5 and 10, then its
unit digit must be:

a)o b) Any digit 0 to 5
c) Either 50r 0 d) 5
(CL-1)

Q.3. Which formula can be applied to calculate the surface area
of a cuboid, if L is (Length), B is (breadth), H is (Height)

a) LXBXH b) 2(L+ B + H)
c) 2(LB + LH + BH) d) (LB + BH + LH)
(CL-1)
Q.4. Every even number is divisible by:
(CL-1)
a) 5 b) 4
c) 2 d) 3
Q.5. The value of 571 is (CL-1)
a) 4 b) -5

¢) = d) -

20
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Q.6. How do we calculate the area of given figure?

[ |

n (CL-1)
a) 2(10+5) b) (10 + 5)2
c) 10 x5 d) 10+5

Q.7. If the area of a square shaped field is (16a*) m?, what is
the length of its side?

a) (256a*)m? b) (256a'®)m?
c) (4a®)m d) (4a)m? (CL-2)

Q.8. We know that: 2x2x2x5x5x5x3x3xa?=09000a?.
What least number should be multiplied to 9000a? so that
is will become it perfect cube?

a)a b) 3
C) 3a d) 3a? (CL-2)
Q.9. The value of {[(—a® x b™°) = 274]°}7100 1 s ......
(CL-2)
a) 1 b) —101
C) _a—300b5002400 d) 0

Q.10.0bserve the given rectangle and identify the situation in
which its area will increase by Z%x square units

2 units
Breadth

X units

a) If its length is increased by % units Length

b) If its breadth is increased by % units

c) If its length is increased by 2x units and breadth
increased by %x units.

d) If its breadth is increased by 2% units (CL-3)



Q.11. In which of the given situations, an isosceles triangle can
be constructed uniquely?

a) If the measures of all its three angles are given.
b) If the length of one of its sides and one of its angles is given.

c) If the measure of one of its equal sides and the
measures of one of its equal angles is given.
d) If the lengths of both the equal sides is given.

(CL-3)

Q.12. If x% + 2x2 + 3x2 + 4x? + 5x% = 60, then the value of 'x’ is
a) 60 b) 15
<) 4 d) 2 (CL-3)

Q.13. A number 'y’ is 5 more than one of the multiples of 12.
What least number should we add to the number 'y’ to
become it multiple of multiple of 4?

a) 7 b) 3
c) 0 d)5 (CL-3)

Section (B) Very Short Answer Type Questions
(Each of 2 Marks)

Q.14. Find the square of: —52
(CL-1)

Q.15. Estimate the cube root of 4096
(CL-1)

Q.16. Calculate the area of the given quadrilateral:

12m

(CL-2)
. \

20m

10m
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Q.17. Given below is the data of three kinds of fruits sold by a
shopkeeper during a week. Represent it by some suitable

chart/graph.
Fruit Quantity sold
Kashmiri Apple 300kgs
Mangoes 300kgs (CL-2)
Bananas 600kgs

Q.18. Determining the square root of a number with more than
two digits, a systematic approach involves pairing the digits
from the right side and proceeding with the division
process.

For the following, under which circumstances does the
result is same/different as to the authentic result when
pairing digits from the left side. In case the result is
different from the authentic result, will it be more or less
than the authentic result.

Case 1. When there are even number of digits in the number.
Case 2. When there are odd number of digits in the number.
(CL-3)

Q.19.To find the least number by which 57,600 is to be
multiplied so that it will become a perfect cube, we
proceed as follows:

We factorize the given number as:
57600 =2X2X3X3X4X4X4Xx5%5

We observed that 30 is the least number which is to be
multiplied to 57600 so that it will become a perfect cube.

Questions:

a) Why did we factorize the given number into prime
factors?

b) How did we come to know that 30 is the only least
number needed to multiply 57600 to become it a perfect
cube? (CL-3)

23
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Section (C) Short Answer Type Questions
(Each of 3 Marks)

Q.20. Simplify a(a®? + a+ 1) + 5 and find its value when a = -1
(CL-1)

Q.21. Express: 97* with the base g and positive exponent
(CL-2)

Q.22. In the given pattern of figures, each shape in the figure
is @ square of side x + 1 units. What is the area of figure
number 76 when the same pattern is continued.

Fig(D) Fig@ Fig (3) Fig (@)
(CL-3)

Q.23. A milk woman sold milk to her customers by using the
vessel marked as 1l capacity. After one month (30days),
she came to know that the vessel actually contains 900ml.
She decided to give the leftover milk to her customers
without letting them know about. She brought another
cylindrical measuring vessel of radius 5¢cm and height 14cm.

For how many days she needs to use the new
measuring vessel so that the customers will get exact
quantity of leftover milk. (Remember there is no change in
the quantity of milk from customer side) (Take 1cm3 = 1ml)

(CL-3)

Q.24. When we divide 100000, 10000, 1000 and 100 by 7, we
get remainders 5, 4, 6 and 2 respectively. Without actually

dividing, fide the remainder when 111107 is divided by 7,
also show your working.
(CL-3)
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Section (D) Long Answer Type Questions
(Each of 5 Marks)

—  Actual Temprature
Temprature

------- Forecasted Temprature

Q.25.The given graph shows 10 407
days actual and forecasted TR
temperature of a locality. 361
Observe the it carefully and sl
answer: .

30+

a) When did the weather forecast |
come 100% true? ok

b) When there was fall in actual- ;ﬁ

f } } } } Day

Temperature observed? Day 2 Day 4 Day6 Days Daylo

c) If the actual temperature is
represented by the dotted line, What modifications in the
legend is/are required?

d) There is a break in temperature axis (vertical axis)
between origin and 26, Why?

e) Can this information be represented by some other type
of graph? If yes, mention the name of the graph. If no,
give reason.

Or

Compare the given information graphically, mark an
average line for each category, (if possible).

Class Boys Girls
gth 20 30
7t 15 25
6t" 20 25

(CL-1)
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Q.26.Given below is the rough drawing of a quadrilateral in which
AB || CD, observe it carefully and construct it in your

notebook using compass and straight edge: N

Or

Construct a rhombus who's each diagonal is of length 6cm.
Is this a special type of rhombus, If yes give reason.

(CL-3)
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Assessment Scheme

S. Text Book Chapter Chapter Title Marks in
No. Number Summative
Assessment
1 Resource and 4 Agriculture 05
2 Development 5 Industries 04
3 6 Human Resources 04
4 7 Industries of 03
Jammu, Kashmir
and Ladakh
5 Our Past - III 5 When People Rebel 04
- 1857 and After
6 8 Women, Caste And 04
Reform
7 9 The Making of The 05
National
Movement: 1870s -
1947
8 10 India After 03
Independence
9 11 Formation of 02
Erstwhile Jammu &
Kashmir State and
The Dogra Rule
10 Social And 1 The Indian 04
Political Life - Constitution
11 ITI 3 Why Do We Need A 04
parliament
12 6 Understanding Our 03
Criminal justice
System
13 7 Understanding 02
Marginalisation
14 9 Public Facilities 03
TOTAL 50




Summative Assessment Model paper 2023-24

Subject: Social Science Class: 8t

Max. Marks: 50 Time: 2 % Hours

General Instructions

i

i

iii.

Vi.

The question paper is divided into four sections — A, B, C, and
D. There are 23 questions in the question paper.

Questions from serial number 1 to 10 in Section A contain
multiple choice questions. Each of these carries one mark.
Questions 11 to 17 in Section B carry 2 marks each. Answer
to these questions should be up to 20 words each.

Questions 18 to 21 in Section C carry 3 marks each. Answer
to these questions should be 40 to 50 words each.

Question number 22 in Section D carrying 5 marks.
Question number 23 in Section D is map based. It contains
two parts each carrying 2 marks.

SECTION - A

. "It was the upper castes who were responsible for the Harijans

being unfit today.” Who said it?
A. Jawar Lal Nehru

B. Dr. B.R. Ambedkar

C. H.J. Khandekar

D. Sardar Vallabhai Patel

2. The so called untouchables preferred to be called Dalits. The

term dalit means

A. Lower castes

B. Equal to upper castes

C. Broken from the society

D. Not lesser than upper castes

28



. If a 13 year child is working in a factory manufacturing carpets
which Fundamental Right is violated?

A. Right to Equality

B. Right to Liberty

C. Right against Exploitation

D. Right to Constitutional Remedies

. In Subash Kumar vs State of Bihar (1991). The Supreme Court
held that Right to Life is a Fundamental Right under Article 21
of the Constitution and it includes right to the enjoyment of

A. Pollution-free water

B. Pollution-free water and air

C. Clubs and Cinema Halls

D. Clubs and bars

. When birth rate and death rate are same
A. Population increases

B. Population stays same

C. Population decreases

D. Population may or may not change

. ‘Mall of Srinagar’ a mega infra project, helmed by Dubai-based
Emaar Group was announced in

A. December 2022

B. January 2023

C. February 2023

D. March 2023.

. The term ‘Thara-mukurtham’ means:

A. The girl is gifted to her husband

B. The wife belongs to her husband’s place

C. The wife has to be a puppet in the hands of her husband

D. The girl is given away to serve as a slave of the bridegroom

. Lok Sabha selects the executive. The executive
A. Elects the Prime Minister

B. Elects the President

C. Elects the Vice-President

D. implements the laws made by the Parliament
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9. How many members to the Rajya Sabha are nominated by the

President?
A. 2
B. 12
C. 233
D. 245

10. Match the following

Column A

Column B

1. Mutiny

a. The book written by
Vishnubhatt Godse

2. Taiping rebellion

b. When soldiers as a group
disobey their officers in
the army

3. Majha Pravaas

c. An uprising in the
Southern parts of China

4. Regulation

d. A rule made and
maintained by an authority

SECTION-B

11. On 15 August 2022, India celebrated seventy six years of its

existence as a free nation. In your opinion to what extent has it
fulfilled the ideals set out in its constitution?

12. List two factors that led to the first Anglo Sikh War in 18467

13. What do you think Jyotirao Phule meant by "me here and you

there again”?
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14

15

16

17

18

19

20

21

. If you were a member of the parliament (MP), list two questions

that you would like to ask.

. What do you mean by manual scavenging?

. Describe environment as a public facility.

. How has the opening of Tulip Garden boosted tourism industry

of J&K?

SECTION - C
. Both the birth rate and the death rate of Kenya are high.

Describe the shape of its Population Pyramid.
. Had the rebellion of 1857 not broken, what would have been the
fate of customary religious and social practices of the people of

India?

. How are the Fundamental Rights different from the Directive

Principles of State Policy?

. What is the role of the police in investigating a crime?
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SECTION - D
22. List five practices that can boost the output of the crops grown in
your own area.
23. On an outline map of the world locate any two major:

I. Cotton textile manufacturing regions
ii. Iron ore producing areas
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Uy U o Well # fauifoa fear man j1

TS TH ¥ sgiamddd Uy U T ¢ o Wt uy sifard €1

TE ar H T SR U & I fadwedl & i Ul B BT T g1 59
We ¥ fodll @ e ¥ Rad = & gfd a1

o Wg T T 36 quHE® U I ¢ B, H I B & vl & S|
ffard gl

dHl sf # $a I uy gId Wel & Ul & I A R

JUREHT Tl Tel & Yl & IR Ha: falkad|

PIGESURE (Model Paper Hindi)

fAvg:-fed JHY 3G -3:30%¢
PET:-3TSdl 3P:-40
Gs-UF (5x3=15)

gy R - Fafafad Teiw & eargd e Ufeu $iR I d1¢ I U Uell & 3T
difor: -

9 T TR AT & 719 BT 8 & HRUT Y S Pl dae AT He-l ey ol
Req H I & AT -1 HEBR 9G] Bl Hel Bl UT| ST b 1id & ot
S 3 Bl HRd A1 TG DT ADHM? P& SHd TR &4 UT| G & HHA FS1-91
e T fored U RMAT -iig & g&f T T, ST & -1 98B Saq 30T B
fobaT BT U1 | I7Tel § Yl ggahdl gl Iord dg oRg fUadr &dl | 9re U
Ao el ! IIAC US! gd! oI dd o JAH gH IR | 98 3% Iard & 9
gael dRb ol Dl bR odll U § IR-©g fafid SR Dt de-=ga
ARATRE! Xgdt | S S § $B udd! 3R Ui ¥ Jict gl aRg &1 gaf &l
PR T TR 98 38 GIRIAI IR TGIHR TMd R a1 §41a1 3R 99 Uh- Th
DR YR 81U DI ST &1 gl & U 8 I IR T HdT|

&) ALD G DI FT DHg HR Jaldl UT?
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&H&" Ug (Punjabi Model Paper Class 8™)

femr: U=t Wfaga3H wid:yo
e : v HH: 2:30 U@
yns 1 35 &3 fasda & ug & wiz Ko yrs' @ Adt €39 fe@ i :
(1xU=y)

I3E, Ifems W3 HSH H&IHs © AAS Ahs Ja fog
feflimirs <t 2 Io! 2difers It wa 9 It g3 A YEi™H =4 A A JI6|
frg HS T 578 HE6 T AUG JI a8, aed, &ro-are W3 IHHE; A
JIIT™H A3 wied &< gJ gae Ial ge 3 g W fon 3 Jdl & JE YaragrH
ggwr Jt gfder J1 SHifers wa-wa <t 76 JI Sfon € 9gs 8 YIIH 3
ot & R &% Ji Hét JuT I1 HIIT It Wt o &8 I gF e IF| HoHg
A Iifeds & Jer 3T HEY T Hies Sgn I Sfewr Ifder ug feret =33 farrs
&% Jt IIt Trael I 3 I W oA Hale &df & gl

(8) 8ifems fam & 2 J7

() Eifers A ISH &8 Haer J7

(v) 28ifems €3 ge f&& We YaraH g%er 37
(H) 9 I3 JIaH T03 UHAT J98 I67

(I) A2 3 fast HEY T Hes fad fagr I /2

YH& 2: Jof i3 I ymet € €339 e (3x3=X)

1. 7Y IS RT Ha™e e @& Un f38Tar € o1 fy 2
2. AN W3 793 T AT 3 Ulgs! Higw = € A6 fier & Har feg oer Ity ?
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3. BT oM A3 Aed AT 3 {9t §TTEl Sid @R JEmi I ?

¥. II3 T IEI3J Tt 3 IME B § fI93 wiftig yus g2 76 ?

YA® 3: 96 €3 mee’ © €u6 9T J By (1x¥=%)
91, TS, $37, AL
yras ¥: I6 &3 meet & feddt Hee 189 ¢ (1x¥=%)

ASIdl , WHES , WHSS , HJS3
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1. €9 !
SicH
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1. g IT3 WR-UR gH 52 &7 JT 3T 3t I=9r ?

2 eIt flordafde g ? iR T ogst @3 st yse der J 2
3. I3 HIHE Are & B & off ©IA &37 2

¥. i3 IHAE '3 B8t & Hgal I6? BTads © F f5u?
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YAS T IS 5T I IAEIT & = 3 e HE S Aieat Sfea fasa @9 1 (u
nid)

USTHICS &8 JE T8 YgHE T UI31 W3 78 A3 €3 ol WA ger 76 ?

YRS € 88 7 Icmiy Idl WiUE TA3 w3 GR © ufged § v 39T ©
fenrg 3 Her S B U39 ol | (2 i)
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